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Materials
For this paper you must have:
¢ an AQA 16-page answer book.

Instructions

e Use black ink or black ball-point pen.

o Write the information required on the front of your answer book. The Paper Reference is
7041/1C.

e Answer two questions.
In Section A answer Question 01.
In Section B answer either Question 02 or Question 03.

Information
e The marks for questions are shown in brackets.
¢ The maximum mark for this paper is 50.
e You will be marked on your ability to:
— use good English
— organise information clearly
— use specialist vocabulary where appropriate.

Advice

e You are advised to spend about:
— 50 minutes on Section A
— 40 minutes on Section B.
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Section A

Answer Question 01.

Extract A
This extract cannot be reproduced due to third party copyright reasons.

Adapted from S B Chrimes, Henry VII, 1972

Extract B

In the short-term, the impact of Henry’s policies on English trade varied. In northern
Europe his success was limited; in southern Europe it was greater. There was little
change in the pattern of trade between England and the Netherlands, which was the most
important destination for English commerce. English merchants were responsible for only
a little over half the trade. Foreign merchants had the remainder. But, without Henry’s 5
encouragement, the role of English merchants might have been smaller. The long-term
effect of his policy was, nevertheless, more important, for he sketched out the lines — into
the Baltic and the Mediterranean, and across the Atlantic — along which English commerce
was eventually to develop.

Adapted from R Lockyer and A Thrush, Henry VII, 1997

With reference to these extracts and your understanding of the historical context, which
of these two extracts provides the more convincing interpretation of Henry VII's policy on

trade?
[25 marks]
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Section B

Answer either Question 02 or Question 03.

Either

‘The break with Rome significantly changed the way in which England was governed.’

Explain why you agree or disagree with this view.
[25 marks]

or

10| 3| ‘Henry VIII's foreign policy in the years 1536 to 1547 was motivated by his desire to gain
territory.’

Explain why you agree or disagree with this view.
[25 marks]

END OF QUESTIONS
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